




If a 10.0 L sample of an ideal gas at 300K suddenly had its
 temperature doubled without changing its pressure, what would
 happen to its volume?  	



A) 	

The volume would decrease to 2.0 L.	


B) 	

The volume would triple.	


C)  The volume would not change since the pressure remains

 constant.	


D)  The new volume would be 20.0L.	



Temperature (Kelvin) is an index of the random motions of
 gas particles (higher T means greater motion.)!
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As the temperature of a gas increases, which statement best
 correlates to information about molecular velocity?	



A) 	

The average molecular velocity will increase, but the	


	

distribution of molecular velocities will stay the same.	



B) 	

The average molecular velocity will stay the same, but the	


	

molecular velocity distribution will spread.	



C) 	

The average molecular velocity will increase, and the	


	

distribution of the molecular velocities will spread.	



D) 	

The average molecular velocity will stay the same, and the	


	

distribution of the molecular velocities will stay the same.	





Each of the balloons hold 1.0 L
 of different gases.  All four are
 at 25°C and each contains the
 same number of molecules.  Of
 the following which would also
 have to be the same for each
 balloon?  (obviously not their
 color)	



A) 	

Their density	


B) 	

Their mass	


C) 	

Their atomic numbers	


D)  Their pressure	





If a 10.0 L sample of a gas at 25°C suddenly had its volume doubled,
 without changing its temperature what would happen to its
 pressure?  What could be done to keep the pressure constant without
 changing the temperature?	



A) 	

The pressure would double; nothing else could be done to	


	

prevent this.	



B) 	

The pressure would double; the moles of gas could be doubled.	


C) 	

The pressure would decrease by a factor of two; the moles of gas
 	

could be halved.	


D) 	

The pressure would decrease by a factor of two; the moles could
 	

be doubled.	




